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Mark schemes are prepared by the Lead Assessment Writer and considered, together with the relevant
guestions, by a panel of subject teachers. This mark scheme includes any amendments made at the
standardisation events which all associates participate in and is the scheme which was used by them in
this examination. The standardisation process ensures that the mark scheme covers the students’
responses to questions and that every associate understands and applies it in the same correct way.
As preparation for standardisation each associate analyses a number of students’ scripts. Alternative
answers not already covered by the mark scheme are discussed and legislated for. If, after the
standardisation process, associates encounter unusual answers which have not been raised they are
required to refer these to the Lead Examiner.

It must be stressed that a mark scheme is a working document, in many cases further developed and
expanded on the basis of students’ reactions to a particular paper. Assumptions about future mark
schemes on the basis of one year’'s document should be avoided; whilst the guiding principles of
assessment remain constant, details will change, depending on the content of a particular examination
paper.

Further copies of this mark scheme are available from aga.org.uk
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Part 1 — General marking guidance for GCSE MFL Writing Tests
Level of response marking instructions

Level of response mark schemes are broken down into levels, each of which has a descriptor. The
descriptor for the level shows the average performance for the level. There are marks in each level.

Before you apply the mark scheme to a student’s answer read through the answer and annotate it (as
instructed) to show the qualities that are being looked for. You can then apply the mark scheme.

Step 1 Determine a level

Start at the lowest level of the mark scheme and use it as a ladder to see whether the answer meets the
descriptor for that level. The descriptor for the level indicates the different qualities that might be seen in
the student’s answer for that level. If it meets the lowest level then go to the next one and decide if it
meets this level, and so on, until you have a match between the level descriptor and the answer. With
practice and familiarity you will find that for better answers you will be able to quickly skip through the
lower levels of the mark scheme.

When assigning a level you should look at the overall quality of the answer and not look to pick holes in
small and specific parts of the answer where the student has not performed quite as well as the rest. If
the answer covers different aspects of different levels of the mark scheme you should use a best fit
approach for defining the level and then use the variability of the response to help decide the mark within
the level, ie if the response is predominantly level 3 with a small amount of level 4 material it would be
placed in level 3 but be awarded a mark near the top of the level because of the level 4 content.

Step 2 Determine a mark

Once you have assigned a level you need to decide on the mark. The descriptors on how to allocate
marks can help with this. The exemplar materials used during standardisation will help. There will be an
answer in the standardising materials which will correspond with each level of the mark scheme. This
answer will have been awarded a mark by the Lead Examiner. You can compare the student’s answer
with the example to determine if it is the same standard, better or worse than the example. You can then
use this to allocate a mark for the answer based on the Lead Examiner’s mark on the example.

You may well need to read back through the answer as you apply the mark scheme to clarify points and
assure yourself that the level and the mark are appropriate.

Indicative content in the mark scheme is provided as a guide for examiners. It is not intended to be
exhaustive and you must credit other valid points. Students do not have to cover all of the points
mentioned in the Indicative content to reach the highest level of the mark scheme.

An answer which contains nothing of relevance to the question must be awarded no marks.
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Marks will be allocated in the following way at Foundation Tier:

Communication | Content Quality of | Conveying | Application of Total
language key grammatical

messages | knowledge of
language and

structures
Question 1 8 8
Question 2 10 6 16
Question 3 5 5 10
Question 4 10 6 16
Total 8 20 12 5 5 50

Foundation Question 1
There are 8 marks for Communication.

Candidates are required to write four sentences about what is in the photo. Each sentence is marked
separately and is worth a maximum of two marks, according to these assessment criteria.

Mark Communication
2 The relevant message is clearly communicated.
1 The message is relevant but has some ambiguity and causes a delay in communication.
0 The message is irrelevant or cannot be understood.

Statements must refer to what is in the photo and cannot refer to what is not in it. ‘I like the photo’ and
similar opinions about the photo, without mentioning what is in it, will score 0. However, if the sentence
reads, for example, ‘I like the photo because it is sunny’, it will score 2 marks.

If the sentence could possibly be true or is very broadly relevant, accept it. For instance, it is acceptable
if the candidate writes ‘The tent is green’, even though the photo is in black and white. However, if the
sentence is clearly false, it receives a mark of 0. For example, ‘There is an elephant’, when there clearly
isn’'t one.

It is acceptable to write a figure (eg ‘There are 2 people’) rather than a word. This is true of all questions
at both Foundation and Higher tiers.

The aim of this question is for candidates to write in the present tense, but other tenses are also
acceptable.

For 2 marks

e The response must be in the form of a sentence, using an appropriate conjugated verb. The
same verb/grammatical structure may be repeated in more than one sentence, eqg.
jest/saglznajduje sie plus different nouns.

¢ Any sentence that is broadly relevant to the photo is given 2 marks. For example, imagine that the
photo is of a man in a café. The student writes, in the target language: It's a man. He’s old (even if to
your eyes he may not be — ‘old’ to a 16-year old may be different from your perception of ‘old’). He’s a
father (even if this is not apparent from the photo, it would potentially be true). He's a teacher (he
could be, for all we know).

o The first person of the verb is acceptable, for example: ‘I| am/we are playing tennis’.
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e There may be linguistic errors, but the message must be communicated without ambiguity.

For 1 mark

e Thereis no verb and a minimum of two words, for example: ‘good weather’

e The use of an infinitive in an otherwise appropriate response.

Language error(s) causing ambiguity or a delay in communication, for example: ‘They are eating
lemonade’.

A delay in communication because the response is too long, where one part communicates well but
another part does not, for example: ‘There is a family and they are a field'.

For O marks

e The message makes no sense.

¢ A second person of the verb is used, for example: “You are wearing a t-shirt’.
¢ A single word, eg. an infitive or a noun.

Foundation Question 2
There are 10 marks for Content + 6 marks for Quality of language (16 marks in total).

Candidates write approximately 40 words in total about four different bullet points. All bullet points are
compulsory and must be covered, but there is no need for equal coverage of the bullets.

Everything a candidate writes must be marked, even if it is well beyond the suggested number of words.
This principle applies to all writing questions at Foundation and Higher.

When deciding a particular mark, it is advisable to identify the band of marks first, and then decide
whether you are tempted by the band above or the band below. This will enable you to award an
appropriate mark within a mark range.

The question is marked for Content and for Quality of language, according to the following criteria:

Marks Response

9-10 A full coverage of the required information. Communication is clear.

7-8 A good coverage of the required information. Communication is mostly clear but perhaps
with occasional lapses.

5-6 A reasonable coverage of the required information. Communication is generally clear but
there are likely to be lapses.

34 A partial coverage of the required information. Communication is sometimes clear but there
are instances where messages are not conveyed.

1-2 A minimal coverage of the required information. Communication is often not clear and there
may be frequent instances where messages are not conveyed.

0 The content does not meet the standard required for a mark at this tier.
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The candidate’s response must be relevant to the bullet points. Any information which cannot be
deemed relevant must be ignored when awarding a mark for Content.

A minimum number of bullet points must be covered for the award of marks for Content, as follows:

0 9-10 marks: 4 bullet points
0 5-8 marks: 3 bullet points
0 3-4 marks: 2 bullet points
0 1-2 marks: 1 bullet point

The information that the candidate gives must be clear. If what is written is unclear, this will have a
bearing on the mark for Content. For example, the candidate may convey information in relation to all
four bullet points, but lapses in clarity may mean that a lower mark than the 9 or 10 is more
appropriate. The more lapses in clarity that there are, the lower the mark is likely to be. All of the
information that a candidate attempts to give in relation to a particular bullet point may be unintelligible,
in which case that bullet point will not have been covered, meaning that a mark of 9 or 10 will be
impossible, as the response will not display full coverage of the required information.

The suggested number of words is 40. If a candidate writes four very short sentences of around six or
seven words on each of the bullet points, it will not be sufficient to access the top band.

‘Lapses’ are instances where the inaccuracy of the language is such that there is a delay in
communication or nothing at all is conveyed.

There is no requirement in this question for the candidate to refer to events in the past or future, so
using the present tense only will enable coverage of the bullet points. However, the bullet points tend
to be general and so references to the past or to the future are acceptable. For example, if the bullet
point says ‘Holidays’, the candidate may choose to write about a past or future holiday. Lapses will
occur when there is a mix of time markers and tenses, for example: ‘Last week | will go to the beach'.

There is no requirement for candidates to present their piece of writing in a particular way because of
the context, eg a blog or email does not need to look like a blog or email. It is the content which is to
be marked.

Quality of language

Marks | Response

5-6 Uses a variety of appropriate vocabulary and grammatical structures. Generally accurate.

34 Vocabulary and grammatical structures generally appropriate to the task, with some attempt
at variety. More accurate than inaccurate.

1-2 Vocabulary and structures used may be limited, repetitive or inappropriate. There may be
frequent errors.

0 The language produced does not meet the standard required for a mark at this tier.

The whole of the response must be assessed when awarding the mark for Quality of language, even if
some of it is irrelevant to the bullet points. There are no dependencies between the two sets of
criteria.
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Once you have decided on the mark for Content, you should read through the response once more
and decide on the mark for Quality of language. Each band has three strands: variety of vocabulary;
variety of structures; accuracy of the language. Sometimes it will be necessary to adopt a ‘best fit’
approach, because the three strands will not be consistently demonstrated. So, for example, the
writing may be very accurate, but the vocabulary and structures are so repetitive that a mark in 3—4
band is more appropriate than the 5—6 band. If you find that two of the three strands fit a particular
band you are likely to award a mark in that band. Whether it is the top of bottom mark in the band will
depend on who well or how poorly the third strand is reflected in the writing as a whole.

This mark is not limited by the Content mark, unless the mark for Content is 0, in which case the mark
for Quality of language must also be 0.

However, sometimes a candidate may only attempt one or two of the bullets in a very short piece of
writing; or they may answer all of them very briefly, using six or seven words. Even if this writing is
totally accurate with appropriate vocabulary and structures, a high mark for Quality of language would
be inappropriate because of the lack of linguistic variety.

Variety of language will be shown through, for example, different adjectives; different persons of the
verb; some variety in the nouns and verbs used.

In this question, you are looking for a variety of language and not complexity.

Foundation Question 3

5 marks for Conveying key messages + 5 marks for Application of grammatical knowledge of language
and structures (10 marks in total).

Candidates translate into the target language a number of sentences in English, totalling at least 25
words. The translation is marked for Conveying key messages and for Application of grammatical
knowledge of language and structures, according to the following criteria:

Conveying key messages

Marks Responses

5 All key messages are conveyed.

Nearly all key messages are conveyed.

Most key messages are conveyed.

Some key messages are conveyed.

Few key messages are conveyed.

Ol |INIWw|H>

No key messages are conveyed.

The translation is divided into 12 key messages. A tick will be awarded for each key message that is
communicated, despite any minor inaccuracies. The total number of ticks awarded equates to a mark
according to this table.
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Total ticks Mark

12

10/11

7/8/9

4/5/6

RINW|A~O1

1/2/3

When deciding on whether a key message is conveyed, you should ask yourself the question: ‘Would a
native speaker understand the target language version without reference to the original English?’ If the
answer is ‘yes’, award a tick.

Application of grammatical knowledge of language and structures

Marks | Response
5 Very good knowledge of vocabulary and structures; highly accurate.
4 Good knowledge of vocabulary and structures; generally accurate.
3 Reasonable knowledge of vocabulary and structures; more accurate than inaccurate.
2 Limited knowledge of vocabulary and structures; generally inaccurate.
1 Very limited knowledge of vocabulary and structures; highly inaccurate.
0 The language produced does not meet the standard required for Level 1 at this tier.

Once you have decided on the mark for Conveying key messages, you should read through the
translation once more and decide on the mark for Application of grammatical knowledge of language and
structures.

¢ This mark is not limited by the Conveying key messages mark, unless the mark for Conveying key
messages is 0, in which case the mark for Application of grammatical knowledge of language and
structures must also be 0.

e There is no direct correlation between the two marks, but your first thought should be to see if the
same mark is appropriate. For example, a candidate may have been given 5 ticks and you have
awarded a mark of 3 for Conveying key messages. You may have had to hesitate when deciding on
one of the ticks but gave the benefit of the doubt. This may then encourage you to consider a mark of
2, rather than 3, for Application of grammatical knowledge of language and structures.

¢ If a candidate leaves gaps, you must assume that any attempt would have been highly inaccurate and
award a mark accordingly. Not to do so will penalise unfairly those candidates who make an attempt
but commit serious errors in so doing.

o Perfection is not required for full marks. For example, occasional missing accents and minor spelling
errors do not preclude a top band mark. However, if there are numerous minor errors and incorrect
use of accents which change the meaning of a word, this is likely to have an impact on the mark for
Application of grammatical knowledge of language and structures.
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Foundation Question 4/Higher Question 1
10 marks for Content + 6 marks for Quality of Language (16 marks in total).

Candidates write approximately 90 words in total about four different bullet points. All bullet points must
be covered, but there is no need for equal coverage of the bullets.

When deciding a particular mark, it is advisable to identify the band of marks first, and then decide
whether you are tempted by the band above or the band below. This will enable you to award on
appropriate mark within a mark range.

The question is marked for Content and for Quality of language, according to the following criteria.

(NOTE THAT THESE CRITERIA ARE DIFFERENT FROM FOUNDATION QUESTION 2):

Content

Marks | Response

9-10 A very good response covering all aspects of the task. Communication is clear and a lot of
information is conveyed. Opinions are expressed.

7-8 A good response covering all aspects of the task. Communication is mostly clear but
perhaps with occasional lapses. Quite a lot of information is conveyed. Opinions are
expressed.

5-6 A reasonable response covering almost all aspects of the task. Communication is generally
clear but there are likely to be lapses. Some information is conveyed. An opinion is
expressed.

34 A basic response covering some aspects of the task. Communication is sometimes clear but
there are instances where messages break down. Little information is conveyed. An opinion
is expressed.

1-2 A limited response covering some aspects of the task. Communication is often not clear and
there may be frequent instances where messages break down. Very little information is
conveyed. There may be no opinions expressed.

0 The content does not meet the standard required for a mark at this tier.

The candidate’s response must be relevant to the bullet points. Any information which cannot be
deemed relevant in the broadest sense must be ignored when awarding the mark for Content.

A minimum number of bullet points must be covered for the award of marks for Content, as follows:

0 7-10 marks: 4 bullet points
0 5-6 marks: 3 bullet points
0 3-4 marks: 2 bullet points
0 1-2 marks: 1 bullet point
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The information that the candidate gives must be clear. If what is written is unclear, this will have a
bearing on the mark for Content. For example, the candidate may convey information in relation to all
four bullet points, but lapses in clarity may mean that a lower mark than the 9 or 10 is more appropriate.
The more lapses in clarity that there are, the lower the mark is likely to be. All of the information that a
candidate attempts to give in relation to a particular bullet point may be unintelligible, in which case that
bullet point will not have been covered, meaning that the maximum mark will be 6.

You must accept any information which is a plausible response to the bullet point, even if it does not
explicitly mention, for instance, a time or place. For example, if the bullet asks what the candidate did
last weekend, and he/she writes ‘| went to see my grandparents and then went to a theme park’, this can
feasibly be an account of what happened last weekend, even though ‘last weekend’ is not mentioned.
Equally, if the student is asked to say what he/she does on a typical visit to a shopping centre and they
write ‘I buy some clothes and went to see a film’, this is also an acceptable fulfilment of the task, even
though ‘shopping centre’ is not mentioned.

The band refers to the amount of information that is conveyed, as follows:

9-10: alot

7-8: quite alot
5-6. some
3—-4: little

1-2:  very little

All of these have to be considered with reference to the suggested number of words, which is
approximately 90. In other words, a candidate who writes approximately 90 words, clearly
understandable and relevant to all four bullet points, will be able to achieve 10 marks, provided the other
criteria are met. Conversely, a candidate may write much more than 90 words, but the language is so
inaccurate that little or very little information is conveyed successfully and the mark will be much lower.
If a candidate writes considerably fewer than 90 words, ‘a lot of information’ will not be conveyed.

The candidate must give opinions in order to have access to certain marks, as follows:

7-10: two opinions
3-6: oneopinion

This is not an automatic mark and the other criteria within a particular band must be met. If there is no
opinion, the maximum mark is 2. An opinion may be expressed simply, for example: ‘I like going
shopping’. Any positive or negative adjective (‘interesting’; ‘boring’, etc) is classed as an opinion. A
neutral or descriptive adjective is only classed as an opinion if it is preceded by something like ‘I think
that’. For example: ‘I think that my town is big’.

Quality of language

Marks Response

5-6 A variety of appropriate vocabulary is used. Complex structures and sentences are
attempted. There are references to three time frames, which are largely successful. Errors
are mainly minor. Some more serious errors may occur, particularly in complex structures
and sentences, but the intended meaning is nearly always clear. The style and register are
appropriate.

10
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34 Some variety of appropriate vocabulary is used. There may be some attempt at complex
structures and sentences. There are references to at least two different time frames,
although these may not always be successful. There may be some major errors, and more
frequent minor errors, but overall the response is more accurate than inaccurate and the
intended meaning is usually clear. The style and register may not always be appropriate.

1-2 The range of vocabulary may be narrow, repetitive and/or inappropriate to the needs of the
task. Sentences are mainly short and simple or may not be properly constructed. There may
be frequent major and minor errors. Little or no awareness of style and register.

0 The language produced does not meet the standard required for a mark at this tier.

The whole of the response must be assessed when awarding the mark for Quality of language, even if
some of it is irrelevant to the bullet points.

Once you have decided on the mark for Content, you should read through the response once more and
decide on the mark for Quality of language. A mark of O for Content automatically results in a mark of O
for Quality of language but, apart from that, the Content mark does not limit the mark for Quality of
language. However, a short piece is unlikely to demonstrate sufficient variety for a high mark for Quality
of language.

e Each band has five strands: variety of vocabulary; complexity of structures and sentences; reference
to time frames; accuracy of the language; style and register. Sometimes it will be necessary to adopt
a ‘best fit’ approach, because the five strands will not be consistently demonstrated. Whether it is the
top or bottom mark in the band will depend on whether the criteria are nearer to those of the band
above or below.

¢ In order to score in the 5-6 band, there must be reference to all three time frames (past, present and
future). For the 3—4 band, there must be reference to at least two time frames. Reference to a
particular time frame may be demonstrated with one example. The verb used to refer to a particular
time frame need not be totally correct, provided the message is clear. These marks are not awarded
automatically and the other criteria in the band are equally important. Notice that references are to
time frames, not tenses. So, for example, the present tense usage in the following sentence is a
reference to a future time frame: ‘I'm going to the concert next week'’.

¢ When considering the complexity of the language, you should bear in mind that a) this is the overlap
guestion and is attempted by both Foundation and Higher candidates; b) that the criteria for Quality of
language in this question are not as demanding as the language criteria for Higher Question 2.
However, for a mark of 5 or 6, complex structures and sentences are attempted. They may not always
be successful and this may lead to serious errors because of the complexity of the structure or
sentence which the candidate attempts. Complexity may be shown in some of the following ways:
different tenses; intensifiers; time markers; connectives; subordinate clauses; infinitive constructions.
This should not be seen as a ‘tick list’, but rather as an indication of the definition of complexity at
GCSE level.

e The setting and bullet points are likely to mean that the style and register of the writing will be
appropriate. If informal address is used when the task is in a formal setting, or vice versa, there is no
need to penalise the candidate merely for that. It may, however, be a contributory factor in the award
of the overall mark if there are other weaknesses.

¢ There is no requirement for candidates to present their piece of writing in a particular way because of
the context, eg a blog or email does not need to look like a blog or email. It is the content which is to
be marked.

11
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Appendix 1
Notes on the use of language

The following notes are a guide to the kind of language that may help to fulfil the criteria for higher bands
of marks in the Quality of language and Range of language categories. They should not be seen as a
checkilist.

Variety of vocabulary
Consider particularly:

¢ use of synonyms, eg wole i doceniam/cenie rather than just uwielbiam, mozemy/mozna
znalezc/zobaczycd/odwiedzic rather than just tam jest, mito, niesamowicie, ekscytujaco, etc, rather than
super etc.

¢ different persons of the verb.

¢ use of more sophisticated vocabulary — though the emphasis is on avoiding a lot of conspicuous
repetition.

Variety of structures
Consider, for example:

¢ use of infinitive constructions introduced by prepositions (przed, dla), adjectives (wazne jest/konieczne
jest), nouns (zamierzam) and after verbs (wole iS¢, lubie uczy¢ sie and the modal verbs mieé, byc,
maoc)

use of object pronouns

use of disjunctive pronouns (z nim/nig, dla mnie etc)

use of indefinite pronouns/adjectives such as co$, ktos, wszystko, etc

use of connectives such as nie tylko ... ale takze..., z jednej strony ..., po drugie ..., pomimo, ze ...,
skadingd.

use of adverbs and adverbial phrases such as jednakze, totez, dlatego, na przyktad, zas, z drugiej
strony, na szczescie, niestety.

use of negatives (nie...nic/nikt/nigdy, ani, ni, etc)

use of constructions with poczgwszy and constructions such as pochodze z..

use of comparative expressions (bardziej/mniej/tak samo...jak)

use of demonstrative adjectives and pronouns (ten, ta, to, etc)

use of possessive pronouns (méj, moja, etc)

use of superlative adjective (najlepszy, najwazniejszy, etc)

use of complex sentences and a range of tenses

Use of complex/longer sentences
Consider:

¢ use of subordinate clauses introduced by eg kiedy, gdzie, biorgc pod uwage, ze ..., zwtaszcza, ze ...,
bo, gdyz, poniewaz.

¢ use of relative clauses introduced by kto, kogo, z kogo, etc

o use of the present subjunctive after verbs of wishing, command, request, emotion and after aby, Zeby
to express purpose

and, when considering use of longer sentences:

12
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¢ use of co-ordinating conjunctions: ale, lecz,oraz, i, albo wiec, nastepnie.

Use of time frames/tenses

e The criteria for Quality of language in Foundation Question 4/Higher Question 1 include ‘references to
two/three time frames’. If a candidate refers to three time frames, it may well be through different
tenses, but equally it could be through the present tense: Regularnie raz w miesigcu chodze do kina
(present); W nastepng sobote ide na basen (future); Wtasnie przyjechatem do centrum handlowego
(past).

e The criteria for Accuracy in Higher Question 2 refer to ‘tense formations’. In this question, a candidate
can impress by showing that he/she can use a good range of tenses, thereby adding to the range and
complexity of language.

13
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Appendix 2

A glossary of terms used in the Writing assessment criteria

NB This alphabetical list corresponds to all questions on both Foundation and Higher papers.

A problem with immediate communication caused by grammatical

Ambiguity inaccuracy or a contradiction (eg, ‘I love it because it's boring’).
Appropriate Language which is suitable for the requirements of the task.

Language which is easy to follow with a logical sequencing of ideas. See
Coherent fluent.

complex sentences

Sentences which contain a subordinate clause or clauses.
See Appendix 1 for examples.

complex structures

See Appendix 1 for examples.

Confidence

Accurate use of language.

delay in communication

A problem with immediate communication caused by grammatical or
lexical inaccuracy.

Fluent

Language which is easy to follow with a logical sequencing of ideas. See
‘coherent’.

grammatical structures

Structures which are listed in the specification.

Justified

The reason for holding a stated opinion.

key messages

With reference to the translation questions on both papers, these are the
key messages as identified in the mark scheme.

Lapses

A problem with communication caused by grammatical inaccuracy

linking words

Words such as poniewaz, ale, wiec used to create longer sentences.

Ionger sentences

These may be complex, with more difficult subordinations, or more simple
through the use of linking words such as bo, ale

major errors

Errors which impair communication.

minor errors

Errors which do not have a bearing on communication.

A positive/negative verb or adjective used to give an opinion; or a neutral
adjective, such as ‘big’, preceded by something like ‘I think that'. For

Opinions - ;

example ‘I think that my bedroom is very small’.
Secure Accurate.
Structures See ‘grammatical structures’.

style and register

The style of writing. Usually this will be determined by the nature of the
task, requiring informal or formal register.

The use of tenses, with or without time markers, which refer to past,
present or future events. A present tense may be a future or past time

time frames frame, eg W nastepny weekend ide do kina (future time frame); Ucze sie
polskiego przez piec lat (past time frame).
_ Use of different verbs’ nouns and adjectives which avoid a lot of
Variety conspicuous repetition.

14
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Part 2 — Marking guidance for June 2019 series

Question 01

For this question, students are required to write four sentences. Each sentence is marked according
to the following criteria. The maximum mark is 8

[8 marks]
Mark | Response
2 The relevant message is clearly communicated.
1 The message is relevant but has some ambiguity and causes a delay in communication.
0 The message is irrelevant or cannot be understood.

The following are examples of responses that students may give to this question. This is by no means
a definitive list.

parku.

2 marks 1 marks 0 marks
01.1 Grupa. [2 marks]
Grupa ludzi sig Grupa cieszy/ smieje OR
cieszy/Smieje. P y e Smiech.
01.2 . : : Trzy. [2 marks]
Jest tam jeden/ 1 D wie/2 d2|ew_czyny| OR
A jeden/1 chiopiec.OR
chtopiec i dwie/2 . . . Chtopak.
: Dwie dziewczyny i
dziewczyny. . OR
Sg tam trzy osoby chiopiec. Dziewczyny
' Trzy osoby '
013 Mysle, ze dostali dobre (E;%stac. [2 marks]
oceny. Dostac oceny.
Teksty.
OR OR
e . OR
On ma krétki ciemny Ciemny wtosy.
Wiosy
wtosy.
01.4 Pewnie wszyscy zdali [2 marks]
egzaminy. Zdac egzaminy. Egzaminy.
Oni znajduje sie w By¢ w parku Park

N.B. The whole sentence should be considered when awarding marks.

15
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Question 02

For this question, there are four compulsory bullet points, which are assessed for Content (10 marks)
and Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The
student is expected to produce approximately 40 words over the whole question. The number of
words is approximate and you must mark all work produced by the student.

[16 marks]
Content
Level | Marks | Response

5 9-10 | A full coverage of the required information. Communication is clear.

4 7-8 | A good coverage of the required information. Communication is mostly clear
but perhaps with occasional lapses.

3 5-6 | A reasonable coverage of the required information. Communication is
generally clear but there are likely to be lapses.

2 3-4 | A partial coverage of the required information. Communication is sometimes
clear but there are instances where messages are not conveyed.

1 1-2 | A minimal coverage of the required information. Communication is often not
clear and there may be frequent instances where messages are not conveyed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Quality of language

Level | Marks | Response

3 5-6 | Uses a variety of appropriate vocabulary and grammatical structures.
Generally accurate.

2 3-4 | Vocabulary and grammatical structures generally appropriate to the task, with
some attempt at variety. More accurate than inaccurate.

1 1-2 | Vocabulary and structures used may be limited, repetitive or inappropriate.
There may be frequent errors.

0 0 The language produced does not meet the standard required for Level 1 at this
tier.

Notes

A mark of zero for Content automatically results in a mark of zero for Quality of language, but apart
from that, the Content mark does not limit the mark for Quality of language.
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Bullet

Comments

gdzie sie znajduje

z kim tam sie spotykasz

ulubione dania i napoje

atmosfera kawiarni

The following indicative content is an example of the response that students may also give to this

question.

Moja ulubiona kawiarnia to ‘Cafe Magda’ na rogu ulic Stowackiego i Lipowej, koto parku. Jest blisko
mojej szkoty, wiec czesto chodzimy tam z kolezankami po lekcjach. Latem zawsze zamawiam

nalesniki z owocami, a w zimie grzanki i gorgcg czekolade. Atmosfera jest przyjemna i mita, zawsze
sie tam relaksuje. (48 words)
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Question 03

The translation is assessed for Conveying key messages (5 marks) and Application of grammatical
knowledge of language and structures (5 marks), as specified in the criteria below. The maximum

mark is 10. When awarding the marks, the student’s response across all five sentences should be
considered as a whole.

[10 marks]
Conveying key messages
Level | Marks | Response
5 5 All key messages are conveyed.
4 4 Nearly all key messages are conveyed.
3 3 Most key messages are conveyed.
2 2 Some key messages are conveyed.
1 1 Few key messages are conveyed.
0 0 No key messages are conveyed.
Application of grammatical knowledge of language and structures
Level | Marks | Response
5 5 Very good knowledge of vocabulary and structures; highly accurate.
4 4 Good knowledge of vocabulary and structures; generally accurate.
3 3 Reasonable knowledge of vocabulary and structures; more accurate than
inaccurate.
2 2 Limited knowledge of vocabulary and structures; generally inaccurate.
1 1 Very limited knowledge of vocabulary and structures; highly inaccurate.
0 0 The language produced does not meet the standard required for Level 1 at this
tier.
Notes

A mark of zero for Conveying key messages automatically results in a mark of zero for Application of
grammatical knowledge of language and structures, but apart from that, the Conveying key messages
mark does not limit the mark for Application of grammatical knowledge of language and structures.
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Key messages

The translation is divided into 12 key messages (see below). As a general rule, the wrong person or
wrong tense of a verb will not receive a tick. Minor inaccuracies, such as incorrect gender or adjectival
agreement, will not on their own prevent the award of a tick.

Message Accept Reject
1 Lubie moj nowy telefon/mojg telefon jest fajny, nowoczesny.
| like my new phone. nowg komorke. Lubie mg;j telefon.
Moj nowy telefon mi sie podoba.
2 W zimie/Zimg czesto/zazwyczaj
In winter | often
3 Jezdzel/ide/chodze w/na géry na gory
go to the mountains,
4 poniewaz jazda na bo deska/skoki na
because skiing is nartach/narty/narciarstwo to nartach/narciarskie
5 moj ulubiony sport.
my favourite sport.
6 W niedziele pomogtem/-am pomoglismy/pomagam
On Sunday | helped
7 | at a centre for homeless w centrum/osrodku/zaktadzie dla | w centre
people. bezdomnych.
8 Nasz dom ma Ten dom
Our house has
9 piec pokoi sypialnie
five rooms
10 oraz/i duzy ogrod.
and a big garden.
11 W przysztosci planuje/mam w
In future, | am planning planach
12 wzigc¢ slub/ozenic sie/wyjs¢ za wesele w koSciele
to get married in a church. maz/pobrac sie w kosciele
OR
wzigc¢ slub koscielny

Other reasonable alternative translations will also be accepted.

A tick will be awarded for each key message that is communicated, despite any minor inaccuracies. The
total number of ticks awarded equates to a mark according to this table.

Total ticks Mark
12 5
10/11 4
7/8/9 3
4/5/6 2
1/2/3 1
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Question 04

For this question, there are four compulsory bullet points which are assessed for Content (10 marks)
and Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The
student is expected to produce approximately 90 words for this task. The number of words is
approximate and you must mark all work produced by the student.

[16 marks]
Content
Level | Marks | Response

5 9-10 | A very good response covering all aspects of the task. Communication is clear
and a lot of information is conveyed. Opinions are expressed.

4 7-8 | A good response covering all aspects of the task. Communication is mostly
clear but perhaps with occasional lapses. Quite a lot of information is
conveyed. Opinions are expressed.

3 5-6 | A reasonable response covering almost all aspects of the task.
Communication is generally clear but there are likely to be lapses. Some
information is conveyed. An opinion is expressed.

2 3-4 | A basic response covering some aspects of the task. Communication is
sometimes clear but there are instances where messages break down. Little
information is conveyed. An opinion is expressed.

1 1-2 | Alimited response covering some aspects of the task. Communication is often
not clear and there may be frequent instances where messages break down.
Very little information is conveyed. There may be no opinions expressed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the four compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will have access to full marks where the
other criteria are met.
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Quality of language

Level

Marks

Response

3

5-6

A variety of appropriate vocabulary is used. Complex structures and sentences
are attempted. There are references to three time frames, which are largely
successful. Errors are mainly minor. Some more serious errors may occur,
particularly in complex structures and sentences, but the intended meaning is
nearly always clear. The style and register are appropriate.

Some variety of appropriate vocabulary is used. There may be some attempt
at complex structures and sentences. There are references to at least two
different time frames, although these may not always be successful. There
may be some major errors, and more frequent minor errors, but overall the
response is more accurate than inaccurate and the intended meaning is usually
clear. The style and register may not always be appropriate.

The range of vocabulary may be narrow, repetitive and/or inappropriate to the
needs of the task. Sentences are mainly short and simple or may not be
properly constructed. There may be frequent major and minor errors. Little or
no awareness of style and register.

The language produced does not meet the standard required for Level 1 at this
tier.

Notes

(a) A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Quality of language.
Apart from that, the Content mark does not limit the mark for Quality of language.

General rule for this question:

¢ the use of an infinitive in place of a finite verb is acceptable for conveying a message. It would not,
however, count as a reference to a present/past/future event (ie no annotation of Pr/P/F).

Question 04.1 Content

Bullet

Comments

miejsca, ktore najbardziej lubisz w

swojej okolicy

jak spedzites/as ostatni weekend

srodki transportu, z ktorych korzystasz i
ich wptyw na $rodowisko

gdzie chciatbys/aby$ mieszkac¢ w

przyszitosci
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Question 04.2 Content

Bullet

Comments

jak spedzites/as swoje ostatnie

urodziny

ulubiony prezent urodzinowy

czy warto obchodzi¢ wazne okazje

polskie tradycje i Swieta, ktore bedziesz
obchodzi¢ w przysztosci

The following indicative content is an example of the response that students may give to this question.
It demonstrates a balanced coverage of the compulsory bullet points.

Either

or

Question
04.1

This is a possible response (indicative content):

Ciesze sie, ze do mnie przyjezdzasz. Mieszkam na tadnym osiedlu,
niedaleko parku. Jest on ogromny, sg tam dwa boiska, cztery korty do tenisa,
park linowy oraz plac z przeszkodami do jazdy na deskorolce. Uwielbiam
spedzac tam czas, chociaz ostatnio nie mam go za duzo, a wszystko
oczywiscie przez egzaminy. W ostatni weekend duzo sie uczytem, bo w tym
tygodniu codziennie mam egzaminy. Obok domu mam przystanek, wiec do
szkoty najczesciej jezdze autobusem albo tramwajem. Sg elektryczne, wigc
nie zanieczyszczajg srodowiska tak, jak niektére samochody. Gdybym w
przysztosci miat wybér, to chciatbym mieszkaé gdzie$ na wsi, blisko natury.
(97 words)

[16 marks]

Question
04.2

This is a possible response (indicative content):

Kto nie lubi sie bawi¢? Dobra impreza to najlepszy sposdb na odpoczynek,
zwltaszcza teraz, kiedy mam tyle stresu! Najbardziej lubie oczywiscie moje
wiasne i mysle, ze moje urodzinowe party w tym roku byto najlepsze, na jakim
bytam! Pomyst z karaoke sprawdzit sie doskonale i do dzi§ wspominamy z
przyjaciétmi niektore piosenki. Poza tym dostatam wymarzone buty. Bylam
taka szczesliwa!
Mysle, ze obchodzenie réznych okazji jest wazne, bo spedzamy czas z
rodzing albo przyjaciétmi. Takie imprezy poprawiajg nam humor, odprezaja,
dodajg energii. Jak bede mie¢ swoja rodzine, na pewno bede swietowacé
Boze Narodzenie i malowac¢ pisanki na Wielkanoc.
(97 words)

[16 marks]
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